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| PART A: abr}f

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes ||
each sentence. mark the correct choice on your answer sheet.

—_ —_ T

Ancient alchemists believed that it was possible to .......... lead into gold.

1) mingle 2) direct 3) transfer 4) transmute

Dan always beats me at chess because he develops such an ......... game plan that I can
never predict his next move.

1) eventual 2) ambiguous 3) elaborate 4) objective

His election as President represented the .............. of his eareer.

[) summit 2) motivation 3) triangle 4) periphery
She found the job frustrating, and felt she wasn’t ......... anything there.

1) flourishing 2) accomplishing 3) evolving 4) satisfying
Britain’s ......... over its colonies was threatened once nationalist sentiment began to
spread around the world.

1) hegemony 2) preference 3) compromise 4) independence
He ........... all of his success to his mother's undying encouragement.

1) interprets 2) converts 3) attributes 4) results

You ean .......... the flavor of most dishes with the careful use of herbs.

1) initiate 2) impress 3) precede 4) enhance

The pirate Blackbeard had a reputation for being a harsh, .......... man.

1) reliable 2) ruthless 3) perpetual 4) prevalent
Being a direct relative of the deceased, her claim to the estate was ............ .

1) prominent 2} profound 3) legitimate 4) reckless

10- There are more than thirty species of rattlesnakes, varying in length from 20 inches to six
feet and also varying in ........... of venom.
1) domination 2) detection 3) conquest 4) toxicity

|
Directions: Read the following passage and decide which choice (1), (2), (3), or |
(4) best fits each space. Then mark the correct choice on your answer sheet.

Football is (11) ....... ball game in the world and the most popular as a spectator sport.
The simplicity of the rules and the fact that it can be played practically everywhere
(12) ........ to this popularity. It is played on all continents and in more than 200
countries. At the 2000 census (13) ........ by the world governing body, the Federation
Internationale de Football Association (FIFA), (14) ........ some 30 million registered
players at all levels. In addition, there are (15) ....... casual players involved in pickup
games in streets, on parking lots, on school playgrounds, in parks, and even, as in Brazil,
on beaches.

11- 1) played the most widely 2) the most widely played

3) played most widely 4) the widely most playved
12- 1) has contributed 2) will be contributing

3) had contributed 4) will have contributed
13- 1) to be taken 2) was taken 3) that taken 4) taken
14- 1) which were 2) there were 3) they were 4) were
15- 1) many millions 2) many of millions

3) many millions of 4) many million
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Directions: Read the following two passages and answer the questions by
choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on

your answer sheet.

Passage 1

Manned spaceflight, still in its infancy, has largely been confined to regions of space very near
the surface of the earth. The reason for this is neither timidity nor lack of large booster rockets.
Rather, the environment of near-earth space conspires to limit the altitude of an artificial
satellite, particularly if it is manned, to a very narrow region just above the earth's sensible
atmosphere. Altitudes below 100 nm are not possible because of atmospheric drag and the
Van Allen radiation belts limit manned flights to altitudes below about 300 nm .

It is possible to inject a satellite directly into a low altitude orbit by having its booster
rockets burn continuously from lift-off to a burnout point somewhere on the desired orbit. The
injection or burnout point is usually planned to_occur at perigee with a flight-path angle at
burnout of (0 degree. Any deviation from the correct bumout speed or flight-path angle could be
catastrophic for there is very little clearance between the orbit and the surface of the earth.

It normally takes at least a two-stage booster to inject a two- or three-man vehicle into low
earth orbit. The vehicle is not allowed to coast between first stage booster separation and
second stage ignition. The vehicle rises vertically from the launch pad, immediately beginning
a roll to the correct azimuth. The pitch program— a slow tilting of the vehicle to the desired
Might-path angle — normally begins about 15 seconds after lifi-off and continues until the
vehicle is traveling horizontally at the desired burnout altitude. The final burnout point is
usually about 300 nm downrange of the launch point.

What should launch vehicle do during its lift-off?

1) travel horizontally

2) roll to the correct azimuth

3) correct the flight-path angle

4) inject the vehicle into low Earth orbit

The target of most manned space missions are orbits below 300 nm due to ----=-----—- :
1) Van Allen radiation belt

2) lack of large booster rockets

3) environmental support system of manned spaceflight

4) high cost of injecting manned spacecraft into higher orbits

What may happens if the spacecraft is not exactly injected into the specified low-Earth
orbit?

1} a catastrophic event happens

2) it can crash into the Earth

3) 1t can coast between first stage booster separation and second stage ignition

4) the clearance between the orbit and the surface of the earth is very little.

The launch vehicle should not fly ---=---------- between the two stages.

1) directly 2) vertically 3) ballistic ally 4) horizontally
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How far the launch vehicle may travel in the direction of its azimuth to the desired orbit?
1) it mostly travels vertically rather than horizontally

2) very short distance due to its pitch program

3) much longer than its altitude

4) almost same as its final altitude

Passage2

Most modern aircraft use swept wings. The primary motivation behind swept wings is to
reduce drag at higher cruise speeds. It was discovered in Germany in the late 1930s that at high
speeds the parasitic drag of the wing was related to the angle the air makes with the wing's
leading edge. Thus, by sweeping the wing, the drag at high speeds is reduced. In flight near or
above the speed of sound, swept wings are mandatory to reduce the power required to sustain
cruise speeds. Most commercial transports, military aircraft, and newer business jests fly at
near the speed of sound. Thus they require swept wings. A glance at the wing of a jet tells you
how fast it is designed to go.

There are other reasons to sweep a wing. Swept wings impact stability. A wing back is
generally more stable than a wing without sweep. This is desirable for passenger airplanes,
since the airplane will have a tendency to stabilize after it is upset by a gust of air. Conversely,
a wing swept forward will be less stable. Experimentation with forward-swept wings has
resulted in less stable airplanes, which increases maneuverability. Although not yet found in
production airplanes, the fighter of the future may employ forward-swept wings.

Another reason to sweep a wing might be to move the center of lift of the wing forward or
aft from where the wing root attaches to the fuselage. This might be necessary to accommodate
a certain structural feature at the wing root and a certain position for the center of gravity of the
plane.

Virtually all aircraft that have swept wings have wings swept back, though it is interesting
to note that the high-speed drag reduction due to sweep is equal for both forward- and
backward-swept wings. The primary advantage to forward sweep is to increase
maneuverability. But forward sweep is very difficult to build structurally. A problem known as
structural divergence can occur if the wing is not stiff enough.

Forward-swept wing is used to -—--—--——- .

1) have a stiffer structure

2) prevent structural divergence

3) have a more maneuverable airplane

4) stabilize the airplane with respect to gust

The major reason for using wing is to
1) fly at near the speed of sound

2) increase stability of the jet airplane
3) increase maneuverability of the jet airplane

4) reduce drag, especially for speeds near or above speed of sound.

How can you understand the maximum speed of a jet aircraft?

1} by its stability measure

2) by the sweep angle of ils wing

3) by its maximum maneuverability

4) by the value of its power requires at cruise speed

What kind of sweep do you suggest for a business jet aircraft? Why?
1) it cannot be concluded from the passage

2) swept-back, because of less-drag and higher stability

3) swept-back, because of less-drag and higher maneuverability

4) swept-forward, because of less-drag and higher maneuverability

WM““Ug)éM)'wu)UQhW‘g)b'ue}?."
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Which two items can be controlled using forward or backward swept wing?
1) stability, maneuverability 2) stability, high-speed drag
3) center of gravity, maneuverability 4) center of gravity, high-speed drag

Choose the word or phrase that best completes the following sentences:

You would better check out the —-——-—eeeeme- before deciding whether to go to a nearby
college.

1) alternatives 2) components 3) foundations 4) reflections

The workers have still not been --—-——-——-—- for their loss of wages.

1) established 2) maintained 3) perceived 4) compensated

The path of one of the masses relative to the other is a in a two-body
problem. :

1) circle 2) conic section 3) hyperbola 4) parabola

Clouds can be --—-—-—-—- into family groupings according to their height and shape.

1) classified 2) specified 3) registered 4) distributed

Freud was very interested in the —----------- of people's dreams.

1) regulation 2) intervention 3) interpretation 4) coordination
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